EARAROBREBRT —5 XN—ZXBISH—F

2024598188 (K) 13m&&E2H

W8S AZEER B HSR—iE ‘ (XR] 65 ‘ (seEBsRs] - | 9 17000 B
[AXE%£] 1&:750,000F ~ 23&:23,000H  337%:150,000H . 4#&:113,000H  53&:75,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
sw . — P RFRFAEB : -10-8- - BHES (BEE)
118l 9| HoYUTS e 7| B 1.(5_1).0 9-10-8-5 | 38.8 7 (4+542) e
RiFRF BEF/IAVI— ESHT7—L
= e 4 | RZHEEE 1:51.0 3-3-2-3 [39.2| - 5 469 | PEBEHR (ZEE)
218l10/ BZ—KLR e $52.0 F9I<) 5 |1L=YvT @)
R:O—)VRFPII— B:ORENS—R AREY1—T7—L4
b~ it 4 | EREHE 1:51.1 5-56-6 | 39.0| — 6 | 461 |HLEE (&ER)
3 4| BT VU—F £52.0 1/2) 1) | PEBLE
RWAVF =R BU—FIVEITR J=HUT7—L
— =V, 3 4 4 | ETE 1:51.6 1-1-1-1 39.9| - 3 190 | BIIB—A (REE)
4 3 I—=\NLVT {52.0 2172 #5) @#gi?
R:IVI=FPF+a—~ B I-IIBIT7Y KALBUS
N . RS : -7-7- - EAC (BER)
W6 AVO—RELT "85 Gy | 7T Pe Y18 em
RiNZ—ka1—X B:FVI—RIILY =t 2
S= I 3 SHEKX : -6-3- - FHEEE (BEE)
61717 [WoRTILRS K 'Y 4| SHR 1.(532).3 6-6-3-4 | 40.5 2 :1_93 zﬁiﬁm
RiNZ—ka1—RX B:RAI—KAZ)L e
gy o S, o~ KIHE :52. -4-5- . - SEe (BERE)
7 2 [ RAANGT—V 3> s | T 1(95%:;‘ 7403 1 (4_528) INHIKIES
RIRIVIARTAwIIFUT— A XAAIRAR BT 7—L
TN 44 | HEA 1:52.6 8-9-9-9 |40.4| - 9 45 | BTIB—5 (BEE)
8/5/5 AT+ 56.0 (1172 *2) Hﬁgﬂﬁz%
RiLYRIZIVIR B:DUTTILNT« FERIS
w3 = s o4 | HIIEE 1:53.1 7-8-10-10 | 40.6 | — 8 411 | ZEHERS (BEE)
911 | TvtEYYvUT« 54.0 212 (1) | LLOSRAES
RIXAVRAFERTwY #:EaUF«d—LR (\) #B81—-RU—yavEEI7
e = BAEE : -2-4- - EHSHN (ER)
1007] g | XA FvRFLF— 8 4 Z 1.(544).0 2-2-4-8 | 42.2 1 %)3 i
Rib—trya—sy B:7IMFTHOAL oK IhE
@ 11— —BERIEI
13—7F— 3.8.10,2,4,7,1,5,9,6
20—7+— 3,8,10,2,4,7,6,1,5,9
30—7F— 3,10,7,8,2,4,6,9,5,1
4A0—F— 3,6,10,7,9,4,2,8,5,1
o ILRE
BB 9 1,150 | | 94 B 9-10 1,160 & 8-8 4,840 3ER 4-9-10 9,870H
B B 9 370M4 4-9 1,630/ o 18 9-10 3,730 3Es 9-10-4 52,220/
10 320 4-10 1,260 oS- 1 9-10 9,140
4 270

ABIC OV TRUTEREERRODDZE. THRIIZEL.



